Regents Exam Questions A.REI.D.10: Writing Linear Equations 1
Page 2
www.jmap.org




Name: __________________________________



1
What is an equation of the line that passes through the point [image: image1.png]


 and has a slope of [image: image2.png]


?

1) [image: image3.png]


   2) [image: image4.png]


   3) [image: image5.png]


   4) [image: image6.png]




2
What is an equation of the line that passes through the point [image: image7.png]


 and has a slope of 2?

1) [image: image8.png]2x+5




   2) [image: image9.png]


   3) [image: image10.png]


   4) [image: image11.png]




3
Which equation represents the line that passes through the point [image: image12.png]


 and has a slope of [image: image13.png]


?

1) [image: image14.png]


   2) [image: image15.png]


   3) [image: image16.png]


   4) [image: image17.png]2x+3






4
What is an equation of the line that passes through the point [image: image18.png]


 and has a slope of 3?

1) [image: image19.png]


   2) [image: image20.png]


   3) [image: image21.png]3x+2




   4) [image: image22.png]3x+ 22






5
What is the equation of the line that passes through the point [image: image23.png]


 and has a slope of [image: image24.png]


?

1) [image: image25.png]


   2) [image: image26.png]


   3) [image: image27.png]


   4) [image: image28.png]




6
If point [image: image29.png]


 is on the line whose equation is [image: image30.png]x+ b




, what is the value of b?

1) 1   2) 2   3) 3   4) 0

7
A line having a slope of [image: image31.png]


 passes through the point [image: image32.png]


.  Write the equation of this line in slope-intercept form.

8
Which equation represents the line that passes through the points [image: image33.png]


 and [image: image34.png]


?

1) [image: image35.png]3x+1




   2) [image: image36.png]


   3) [image: image37.png]4x+2




   4) [image: image38.png]




9
Which equation represents the line that passes through the points [image: image39.png]


 and [image: image40.png]


?

1) [image: image41.png]


   2) [image: image42.png]


   3) [image: image43.png]=0.5x+75




   4) [image: image44.png]—0.5x+85






10
What is an equation for the line that passes through the coordinates [image: image45.png]


 and [image: image46.png]


?

1) [image: image47.png]


   2) [image: image48.png]


   3) [image: image49.png]


   4) [image: image50.png]




11
Which equation represents the line that passes through the points [image: image51.png]


 and [image: image52.png]


?

1) [image: image53.png]


   2) [image: image54.png]


   3) [image: image55.png]


   4) [image: image56.png]




12
Which equation represents the line that passes through the points [image: image57.png]


 and [image: image58.png]


?

1) [image: image59.png]


   2) [image: image60.png]


   3) [image: image61.png]


   4) [image: image62.png]




13
What is an equation of the line that passes through the points [image: image63.png]


 and [image: image64.png]


?

1) [image: image65.png]


   2) [image: image66.png]


   3) [image: image67.png]


   4) [image: image68.png]




14
What is an equation of the line that passes through [image: image69.png]


 and [image: image70.png]


?



1) [image: image71.png]


   2) [image: image72.png]


   3) [image: image73.png]2x+7




   4) [image: image74.png]





1
ANS:
1

[image: image75.png]y=mx+h
6= (-3)4)+ b
b=f




REF:
060922ia

2
ANS:
4

[image: image76.png]y=mx+h
1= () + b
-7




REF:
080927ia

3
ANS:
1

[image: image77.png]y=mx+h
=D+





REF:
081108ia

4
ANS:
1

[image: image78.png]y=mx+h
8= ((-2)+ b
)




REF:
011406ia

5
ANS:
2

[image: image79.png]y=mx+h
7= [%](z)w

“T=-4+b
-3




REF:
061419ia

6
ANS:
2

[image: image80.png]y=2x+h
0=2-)+b
b=2




REF:
060521a

7
ANS:


[image: image81.png]


.  [image: image82.png]y=mx+h

3

FORS
—-6+b

=%




REF:
011134ia

8
ANS:
1

[image: image83.png]


  [image: image84.png]y=mx+h

10=3()+2

10=9+5
1=b




REF:
061515ia

9
ANS:
1

[image: image85.png]


  [image: image86.png]y=mx+h
=21+
b





REF:
012502ai

10
ANS:
1

[image: image87.png]


.  Using the given y-intercept [image: image88.png]


 to write the equation of the line [image: image89.png]


.
REF:
fall0713ia

11
ANS:
3

[image: image90.png]


  [image: image91.png]



REF:
011013ia

12
ANS:
2

[image: image92.png]


  [image: image93.png]y=mx+h





REF:
081404ia

13
ANS:
2

[image: image94.png]


  [image: image95.png]



REF:
011510ia

14
ANS:
1

[image: image96.png]


  [image: image97.png]



REF:
061606ia

